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TnagKiscoKe A 35 6N 242 Nf; & 0,9 0,9 10C3s o/ 51/l 0,854 4 104 16 90 | 3ax | CCP HOKEIKA 81,3 BIACYTHI
Vsl 9/ 96 1| 012/f 012 108 o/ 51,0854 4y 10| 16| 90/ 3ax | ccp noeKa 1192 | siacyTHi
\,I'f_,35 W 10| 74,4 1 0,9 v 0,9 10Cze 51'-,. 0,85/ 44 9 14 70| 3ax ccp TR 50,4 BiACYTHI
Vs 10V 7,4 ] 3 09/ 09 10Css ./ 514 0,851 4. 14 | 70  3ax | ccp MOKEKA 54,1 | sigcyTHi
Bcooro CCPno n-sy | 26,6 2,82 2,82
Happawurcbie J 43 3 234 L 0,90 0,90 10Ckp 11 O,EN' 24 1,54 2 5% 3sax | CCP TR 175 BIACYTHI
-.,."'43 3 23,2 3 0,70 | 0,70 10Ckp Il 06 2y 1.5 2 S5 o 3ax CcCcP TIOREHA 16,7 BifICYTHI
J43 3 2832 5 0,90 0,90 10Ckp 11-F 06 24 1.5 24 5 4 sax cce MO 25 BiZICYTHI
Beworo CCPno n-sy 69,6 2,50 2,50
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i 96,2 5,32 5,32
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